Pre-College Algebra

Chapter 8 Review

Simplify each expression:
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Multiply or Divide. Simplify your answer.

10 ilf-—c7d3 11 2yt ) ap* ) x*y'at 12. x+5 x-%
TS T\ a? x'y’ b'y *»=3 x-10
< 3 _ 2
abcld . x5y 14 b X+tS
&ob‘lcrd ){-,)’gc~ b'r Y0
* 0
C
— __g——‘-'
a5h rJS‘ X‘Y b.f'
13. X-x-2 x*-x-12 14. 2x2 +9x+10 x2+7x+12
2 +8x+15 x*—9x+14 x> +5x+6 2x* +3x-5
(xfs)écﬁ) Gl Terny (x#e) | (2reAs¥x -~
Geendx-) ¥ty
(xts)(x-7) X-1
37 9 516
15. ;b:g‘ 16. 42 o 17. 7;‘1“;7;‘;;1
e at ¢ _-L——r . P ot
b7 ‘bgcq 2'1'.;,?'45& 1’,{&2 .m)
- (2 :
eSe” __é__s:_a __c_:f_‘_:___ __L___
4 q = bq 2 < zJ—' ~
b'¢c c o’ ¢ (x~1)
b(.
18, ¥ -3-10 2 -x-6 ?j:'— 19, 6F+x-1 37 +2x-1
X’ —3x-28 2 +x—12 T 6% +5x+1 3% +4x+1

(x-5)urey . ) 0r3) Yy Ben )
(x-DOFD)  Cxm3d(erT) éw}"/\)ib(fﬂ m

(x-5)
(X-T) |




LCO = (rt)Cx ) bxts)

Add or Subtract. Simplify your answer.
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Simplify:
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Solve each equation:
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